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Question Number : 1 Question Id : 3666942931 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let the number of elements in sets A and B be five and two respectively.
Then the number of subsets of A X B each having at least 3 and at most 6

elements 1s :

Options:

799
3666949161, ' -
3666949162, ' 1=
3666949163, '°-

3666949164, ‘52

~
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Question Number : 1 Question Id : 3666942931 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT GH=Idl A dyT B # 3fdgdl & 4B &HY: Uld dul & gl dl AxB &
39!, o H $H 8 & 3 duT AHUS ¥ 3if¥d 6 3/d9d 8, di H&I1 6

Options:

792

3666949161.

172

3666949162. -

TH2

3666949163.

3666949164, 152

Question Number : 2 Question Id : 3666942932 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If for z=a+i1f, Iz+2‘ =z+4(1+1), then a+f and af are the roots of the

equation

Options:

3666949165, X tox—4=0

3666949166, * Tix+la=0

L PO
3666049167, X tx—4=0
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“ 19 —
3666949168, * t¥—1==0

Question Number : 2 Question Id : 3666942932 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e z=a+ip AU |2+2|=2+40+i), D a+p T op [&F TS F 4 87

Options:

3666949165, X tox—4=0U

3666949166, * tix+12=0

3666949167, ¥ t=x—a=U

3666949168, * t*—12=0

Question Number : 3 Question Id : 3666942933 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let a. f.7 be the three roots of the equation x" +bx+c=0. If fy=1=—a,.

then b* +2¢” - 3a” -68" — 85" is equal to

Options:

3666949169.
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15
3666949170. &

5

o 1

3666949171, 1°

3666949172, =

Question Number : 3 Question Id : 3666942933 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

HHE @, 9, 7 HHISIT 7 + ba &-{:ﬁ%ﬁﬁﬁfﬂ%ﬂ afe ﬂ?=1=---{r,\_‘ﬁ
b* +2¢° — 30 —64° — 8y° TEX gl

Options :

3666949169.

s
| |
=1

o

36669491 7/0.

36669491 7/1.

3666949172, 2!

Question Number : 4 Question Id : 3666942934 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Correct Marks : 4 Wrong Marks : 1

9
Let A={1 2 -1
| 0

Options:

366694917/3.

3666949174,

36669491 7/5.

36669491 /6.

10

g

12

I |adj( adj(adj 2A)) | = (16)", then n is equal to

Question Number : 4 Question Id : 3666942934 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

HHT A=| 1

Options:

36669491 73.

3666949174,

366694917/5.

36669491 7/6.

P

10X

8

12

-1

0 -1 2 |

81 fQ |adj( adj(adj 24)) | = (16)" 8, T n R 8

~
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Question Number : 5 Question Id : 3666942935 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

J3 1
& "1 17 e
et P=| 2 2 | A= and @ = PAPT . If PTQ™7 p - |
1 ﬁ ML e &
2 2 |

then 2q + & -3¢ -4d equal to

Options :

3666949177, =UU4
2005

3666949178.

3666949179, 2006

3666949180, 2007

Question Number : 5 Question Id : 3666942935 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

v3 1 - _
. T 1 1 e /
A P=| 2 = | A= aur Q=PAPT g1 afg pT™@ " p=" | @
1 B 10 1] le d
2 2 |

2% +b—3c—4d SUET ¢

Options:
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3666949177, <VV4

o

3666949178, 7

3666949179, 2006

3666949180, 207

Question Number : 6 Question Id : 3666942936 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of arrangements of the letters of the word “INDEPENDENCE"

in which all the vowels always occur together 1s

Options:

3666949181, 14800
3666949182, =360V

3666949183, 16800

3666949184, 15000

Question Number : 6 Question Id : 3666942936 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Instruction Time : 0

Cnarrert Marlke * A \NMlroann NMarke - 1




e “INDEPENDENCE” & 3i&R @1 feras & @i, fome anft v gian &
Ty gl Pl HET©

Options:

3666949181, 14800

3666949182, 93600

3666949183, 16300

3666949184, 18000

Question Number : 7 Question Id : 3666942937 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The number of ways, in which 5 girls and 7 boys can be seated at a round
table so that no two girls sit together, 1s

Options:

3666949185, 126(5)°

3666949186, ' =601

3666949187, (720

3666949188, 12U
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

5 il aur 7 T8H! S UF TMd i | 39 UHKR doM, fh @15 it 3t asfaar
Uh Gy 71 86, & delP! Bl GBI 8

Options:

3666949185, 126(5)

3666949186, 'OV

3666949187, (1201

3666949188, (20

Question Number : 8 Question Id : 3666942938 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the coethicients of three consecutive terms in the expansion of (1 +x)" are in
the ratio 1:5: 20, then the coefficient of the fourth term 1s

Options:

3666949189, 1827

3666949190, ~°°1

3666949191, 2481
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3666949192, =436

Question Number : 8 Question Id : 3666942938 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

afé (1+x)" & UBR H dF HANT Ul & T0Nd] ST 3FI91d 1:5:20 8, df 91 Ug
1 T[0T &

Options :

3666949189, 1827

3666949190, ~°°

3666949191, ~181

3666949192, =136

Question Number : 9 Question Id : 3666942939 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. 1+2+...+ K
L‘E’t E:h_ -
K

and » S; = %{_Bny‘ +Cn+ D), where A,B,C,D e}
i=1
and A has least value. Then
Options:

A+ B+ C+ D is divisible by 5
3666949193.
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3666949194 A+ B 1s divisible by D

3666949195, AT B=2(D-C)

A +C+ D 1s not divisible by B
3666949196.

Question Number : 9 Question Id : 3666942939 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

1424...+ K
K

HHl S, = aur Y s? =%{B’:ﬁ+ﬂn+ﬂ_} g, Wigl A,B,.C.DeN 8

qUT A BT A TAaH g1

Options:

3666949193.

3666949194, ATB. D ¥ faursa g

A+B=5 (D-C)
3666949195,

A+C+D. B ¥ fdured el
3666949196. Tl e

Question Number : 10 Question Id : 3666942940 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

18 equal to

..-"'f E:l ! HE{‘E 1) i -fﬂ:'l": 1 *.} N
i | | cos (3x } 31 x

e ! cos™ (4x)  (log,(Zx+1) f /

Options:

3666949197, 9

3666949198, 1°

3666949199, 1°

3666949200.

Question Number : 10 Question Id : 3666942940 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

] £ f
| [ (1 - cos=(3x)
lim 3ra :
x—+{) L\ COS {41} ; t{‘lt}gﬁ_{zi T l:l }

N Yy

Jes

v [ . 0
smm“(4x)

Options :

3666949197. 9

15

3666949198.

3666949199, 1°
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3666949200, =1

Question Number : 11 Question Id : 3666942941 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let I(x) =J- s +1'}_ —dx, x>0.If im I(x)=0, then I(1) is equal to
x(l+xe’)” X7
Options:
) 4 D
Dl log (e +1)

3666949201, €+1

e+ 2

T +log. (e +1)
3666949202. 7

e+1

3666949203, €12

~log (e +1)

‘ +,1 -Hlog (e +1)

3666949204, ¢ 1=

Question Number : 11 Question Id : 3666942941 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@D gy x50 B3R lim I =0 @ I(1) WER DN

x(l+xe™) x—yr

HIAT I{x}:j

Options:
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e+ 2

-log _(e+1)
3666949201, €+1

¥ L:'
e ; +log, (e +1)
3666949202. °°
f*l—hggp+r)
3666949203. ¢ T =
g +,1 -Hlog (e+1)
e+ 2

3666949204.

Question Number : 12 Question Id : 3666942942 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The area of the region ll (x,9): x°<y<8-x°, y<T } 18
Options:

3666949205, 1°

3666949206, <V

3666949207, =)

3666949208, =

Question Number : 12 Question Id : 3666942942 Question Type : MCQ Option Shuffling : Yes Is
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
E s (x,y):x" <y<8=x", ¥y<T : Cal W%
Options:

3666949205, 1°

3666949206, 2V

3666949207.

3666949208. -

Question Number : 13 Question Id : 3666942943 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let C{a, f) be the circumeenter of the triangle formed by the lines
4x + 3y =69,

4y—3x =17, and

x+Ty=61.

Then (& - B) +a+ £ is equal to

Options:

3666949209, 1°

3666949210, 1©

3666949211, 17
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18
3666949212,

Question Number : 13 Question Id : 3666942943 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
EIBIERG| &)

dx + 3y =69,

l}" —dx = 1?., REI

x+Ty=061

g1 [fid Bys &1 aie= Cla. p) 814l (- p) +a+p SR &
Options:

3666949209, 1°

3666949210, 1©

3666949211, 17

18
3666949212.

Question Number : 14 Question Id : 3666942944 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Let R be the focus of the parabola ¥~ =20x and the line y=mx +¢ intersect
the parabola at two points Pand €. Let the point G(10,10) be the centroad

of the triangle PQR. If ¢ —m =6, then (PQ)" is

Options:

3666949213.

3666949214, 27

3666949215, L7

3666949216, 16

Question Number : 14 Question Id : 3666942944 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

HHT IRy~ = 20x I A R%fﬂﬁi‘@i y=mx+¢ 440y mTﬁiﬁ@Bﬁ Pyl
Q W Hied! 81 B Ay PQR &1 dad, fdg G(10,10) 81381E c-m=6 8, d
(PQ)* S €|

Options:

3666949213, =99
3666949214, “=”

3666949215, “*

3666949216, 10
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Question Number : 15 Question Id : 3666942945 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

It the equation of the plane containing the line
x+2y+3d2-4=0=2x+v—2+5 and perpendicular to the plane

I = {f -}}+.&(f+}+ﬁ}]| +,ul{; - 2_; +3k) 18 ax +by+cz =4, then (a—b+c) 18 equal
to

Options:

3666949217, 18

3666949218, 2V

3666949219.

3666949220.

Question Number : 15 Question Id : 3666942945 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gi¢ gudd, o T x+2y+3z2-4=0=2x+y—-2+5 fRud % ayr ol gHdd

Fo(i—7)+ A0+ +R)+ uli —2j +3k) & dddd 8, BT GHIGI ax+by+cz=4 &,

dl (a—b+c) WERE
Options:

3666949217, 18
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3666949218, 2V

22
3666949219.

n}l

3666949220.

Question Number : 16 Question Id : 3666942946 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The shortest distance between the lines : == = '1 and

J E.

x-1 y-3 z-4

3 1 2
Options:
3666949221. 643

3666049222 6

2+/6

3666949223,

6/2

3666949224,

Question Number : 16 Question Id : 3666942946 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Correct Marks : 4 Wrong Marks : 1

- x-4 y+2 z+3 . x-1 y-3 z-:
maﬁ“lif” E gy Xl Y9 2 Fdraman gt d

0 3 J 4 2

Options:

63

3666949221.

3666949222 6

3666949223. “JE

642

3666949224,

Question Number : 17 Question Id : 3666942947 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

O - A A
;I+ﬁj—ﬂk

=t

If the points with position vectors ﬂ:fti-irlﬂ_,;'-ﬁ-lfié, Ef-i—llj: +1lfe,
are collinear, then (19« -64)° is equal to

Options:

3666949225, °

I
o

3666949226.

3666949227, 9O

3666949228, 1Y

]
&collegedumas
India’s largest Student Review Platform

S



Question Number : 17 Question Id : 3666942947 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfe fRufa afesr ai +105 +13%, 61 +11) +11E, §§+ﬁj—5£ dfdgua@de

F=

(19 -64)° & 8
Options:

3666949225, °

2

3666949226. ~

3666949227, 99

3666949228, 49

Question Number : 18 Question Id : 3666942948 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a bolt factory, machines A, B and C manufacture respectively 20%, 30%
and 50% of the total bolts. Of their output 3, 4 and 2 percent are respectively
defective bolts. A bolt 1s drawn at random from the product. If the bolt drawn
18 found the defective, then the probability that it is manufactured by the
machine C is

Options:

=] | b

3666949229.

DCCCNANTIDN
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[T
e

3

3666949231, °
9

3666949232, <°

Question Number : 18 Question Id : 3666942948 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U dlec €911 & SREH H ARH A, B U1 C el MG BT HAR: 20%, 30%
aUT 50% Siee a-1d! g | 371 AL & IS BT HHI: 3, 4 TUT 2 Ufdwd diee @&
gl dicel & IdIG H ¥ U dice giewdl Hdrdl ordl ¢ | afe e @ s
€ UTgT Ol ©, df 39% A9 C §RT 410 OF &1 Uil ©

Options:

=] | I

3666949229.

3666949230.

3666949231.

o)
20

3666949232,
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Question Number : 19 Question Id : 3666942949 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let f(x)= mm_f + 08 — 2 xel0, r]- JE‘:«_ Then j[T—m] f"{T—"T] 1s equal to
SINX —COSX 1 4 | | 4 12
Options:
-2
3666949233, °
3
3666949234, W3

3666949235, V3

gl 2

3666949236.

Question Number : 19 Question Id : 3666942949 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe f(x) = R _qﬁ*.—r e[0, 7] -+ %} %-. dl J"{

T..'T
SINX — COSX 12

T
]; [EJ SR ©

Options:

3666949233.
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3666949234,

3666949235. 33

2| b3

3666949236.

Question Number : 20 Question Id : 3666942950 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Negation of (p=>q)=(g= p) is

Options:

3666949237, P¥ ()

~plv
3666949238. { I']l ‘

~M~p
3666949239. X { I]

~g)Ap
3666949240. (@)~
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Question Number : 20 Question Id : 3666942950 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
(p=q)=(qg=p) &1 fFuy 8

Mathematics Section B

Options:
3666949237, PV~ 1)

~plvi
3666949238, (~P)va

aA(~p)
36669492309.

~01A D
2666049240, \ M
SectionId :

Section Number:

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time:

Ciih-Sertinn Nliimher

366694161
2

Online
Mandatory
10

5

20

Yes
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Sub-Section Id : 366694161
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 21 Question Id : 3666942951 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

let A={0,3.4.6.7,8,9,10} and R be the relation defined on A such that

R={(x.v)e AxA:x—vy1s odd positive integer orx—y=2). The mmmum
number of elements that must be added to the relation R, so that it 15 a
symmetric relation, 1s equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 21 Question Id : 3666942951 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AFT A={0,3,4,6,7,.8,9, 10} 8 04T A R TP &Y R, R={(x,y) e AxA:x -y
faw O9TeT® QU & a1 x— y—2 B} BRI ORHING 81 Wt R & Tfd e &

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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10

Question Number : 22 Question Id : 3666942952 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let |t | denote the greatest integer <{. If the constant term in the expansion

5 1 A -
.n:}f‘ 3x° - }—-] 15 ¢, then [ & ]| 15 equal to
\ 2x"

T

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 22 Question Id : 3666942952 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

O [ HedH Yuiie <: gl afg {3.ﬁ

M) WE e

L) R A e W g d

uj 1 .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10
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Question Number : 23 Question Id : 3666942953 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&
; - . I
If a, is the greatest term in the sequence a, = — =12 3
) oo +147

then & 1s equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 23 Question Id : 3666942953 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:__L o .
afe 3hH a, =————, n=1,2,3,... Bl AUHIH IS ¢ 8, Al « S @

n' +147

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 24 Question Id : 3666942954 Question Type : SA Calculator : None

a
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Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Markes* 4 Wronn Marks - 1




o Bal6 |
Let [ 1] denote the greatest integer <t. Then = J' (8 [cosec x]-5[cot x] ) dx
A xie

18 equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 24 Question Id : 3666942954 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o Bl6 _
A [t] HedH ':I\Uﬁfﬁ <t gl @ % j (8 [cosec x]-5[cot x] ) dx XA g

A JI H

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 25 Question Id : 3666942955 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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If the solution curve of the differential equation

(v—2log, x)dx +(xlog, x“)dy =0, x > 1 passes through the points [s El} and

(ﬂl, r:.-:'}_. then e is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 25 Question Id : 3666942955 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Lo
qfe fgd e GHIHIT (y=2log, x)dx +(xlog,. x*)dy =0, x >1 F1 5¢ deb ﬁ@ﬁﬁ l e, —;]

ayr {fe": | DB S8, ol « SR ©

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 26 Question Id : 3666942956 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The largest natural number n such that 3" divides 66! is

a
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Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 26 Question Id : 3666942956 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fiHan 4TquT® », fored e 66!, 3 A fAUTa 8, 8

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 27 Question Id : 3666942957 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider a circle C, :x” +y —4x—2y=a—5. Let its mirror image in the line
y=2x+1 be another circle C, : 5x~ +5y"—-10fx-10gy+36=0. Let r be the

radius of C,. Then a +r 1s equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

10

Question Number : 27 Question Id : 3666942957 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UH T C :x° + 3 —dx -2y =a -5 B [IGR ST TH1 TG y=2x+1 H FHDT GYUI
ufafdd 9d ¢, : 52° + 57 -10fx-10gy+36=0 S I A TA C, DI AN r 81 e + 1
ENC

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 28 Question Id : 3666942958 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let 4, A, be the values of 4 for which the points [% 1. 4 ] and (-2,0,1) are at

5 A

equal distance from the plane 2x+3y—62+7=0.1f A, > 4,, then the distance

x—-9 y-1 2+7.
= = 18
1 9 9

F =

of the point (A, —A,, A5, A, ) from the line

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

a
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10

Question Number : 28 Question Id : 3666942958 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 4 & A, R R fiig [-}?1,1] qUT (-2, 0, 1) T 2x+3y—6z+7=0 o GHH

ARE 4,4 8180 44 AT (4,-4, 4, 4,) BT x-l—ﬁ:}-_.lzzf- 3
e

Response Type : Numeric

o=
i

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 29 Question Id : 3666942959 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let @ = 6i + 9}#12!:?# b= EE;-}-IL; ~92k and ¢ be vectors such that d@x¢=axb.

Ifa-¢ =-12.¢-(1-2j+ k) =5 then ¢-(1 + J + k) is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10
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Question Number : 29 Question Id : 3666942959 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT OfC G=6i+97+12k, b=ai +11; -2k TUI ¢ SHUPR & [P axé=axbh

elgfd d.¢=-12¢-(i-2j+ =B Al &-(i+)+ k) g

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 30 Question Id : 3666942960 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let the mean and variance of 8 numbers x, ¥, 10,12.6,12. 4.8 be 9 and 9.25

respectively. If x > v, then 3x -2y 15 equal to
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 30 Question Id : 3666942960 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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11 8 W& x, v, 10, 12, 6, 12, 4, 8 & W1t Tl Y01 A 9 41 9.25 g1 413
x>y 8 dl 3x-2y a8

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Physics Section A
Section Id : 366694162
Section Number: 3
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Enable Mark as Answered Mark for Review and
Clear Response: ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 366694162
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 31 Question Id : 3666942961 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Correct Marks : 4 Wrong Marks : 1

The engine of a train moving with speed 10 ms-! towards a platform sounds a
whistle at frequency 400 Hz. The frequency heard by a passenger mnside the
train 1s: (neglect air speed. Speed of sound 1n air = 330 ms-1)

Options:
3666949251, 200 Hz
3666949252, o0 Hz
3666949253, 112 Hz
100 Hz
3666949254,

Question Number : 31 Question Id : 3666942961 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U TWCHIH B 3R 10 ms? 1 T F NTAA T ITS] H1 399 400 Hz FT AR
% Uidl B @i I a1 &1 ISl P 3 8¢ U gEl gR1 A T 3mafy B
(@ D1 91 TG HHESR | g H &4 BT FTe = 330 ms 1):

Options:

3666949251, 200 Hz
3666949252, o0 Hz
3666949253, 112 Hz

]
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400 Hz
3666949254,

Question Number : 32 Question Id : 3666942962 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An air bubble of volume 1 em® rises from the bottom of a lake 40 m deep to
the surface at a temperature of 12°C. The atmospheric pressure 18 1x105 Pa,
the density of water 13 1000 kg/m® and g = 10 m/s2. There 18 no difference of
the temperature of water at the depth of 40 m and on the surface. The
volume of air bubble when it reaches the surface will be:

Options:

3666949255, 2 cm

3

3666949256, © °™
4

3666949257, 1M
" h

3666949258, ° ¢M

Question Number : 32 Question Id : 3666942962 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

12°C ATUHT TR 40 m &< 3i1d 1 aell ¥ 1 em? ST &1 U a1 &1 Jaqal 3641
dRIHUSHI aTF 1x 10° Pa, B @01 10 m/s2 Ud U1 &1 9 1000 kg /m? & | UTH1
@1 e Ud 40 m &I TEY0% W UMl & a9 H $is =X el e | 9d a1 T gagal

Hdg W Ugddl ¢ d¥ 391 3a g1:
&collegedunias
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Options:




3666949255, 2 ¢m’

A

3666949256, ° ™
: 9

3666949257, 1 ¢m
s

3666949258, ° ¢M

Question Number : 33 Question Id : 3666942963 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(;iven below are two statements:

Statement I: If heat 18 added to a system, its temperature must
1ncrease.
Statement 11: If positive work 1s done by a system in a thermodynamie

process, its volume must increase.

In the hight of the above statements, choose the correct answer from the
options given below

Options:

3666949259 Both Statement I and Statement II are true

3666949260 Both Statement | and Statement 1l are false

3666949261 Statement I is true but Statement 11 1s false

Statement [ is false but Statement Il is true
3666949262.
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Question Number : 33 Question Id : 3666942963 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FYF 1 Td FH B FWT S Sl 8, THDT YA aY Fg1 =Net|

U9 11 Th H Tidd WhH H A gRI YAidE S fha1 Ad &,

IR Yl & HaH §, - 38 13 fawel @ wdl 3w g

Options:
3666949250, A1 PUT 1T BT 1 el B

3666949260. AHIPU 1T ! €

HU | U= Y 11 7T
3666949261. el Sk

DY | Tledd & Ul hYU 11 Hel 6
3666949262. ¢ d we

Question Number : 34 Question Id : 3666942964 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

An aluminium rod with Young’s modulus ¥ =7.0x10"" N/m“ undergoes elastic
strain of 0.04%. The energy per umt volume stored 1n the rod 1in 51 umt 1s:

Options:

3666949263, 2800

]
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3666949264, 29U0

3666949265, ° 10U

3666949266. *AEN

Question Number : 34 Question Id : 3666942964 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Y =7.0x10'" N/m? 7 IRl 7UNP & 1Y Uh TGHATH HI TS 0.04% TIRY
faPpfd & savid STl 81 ufd Uhiss s H Sid Sl (J/me H) 8:

Options:

3666949263, 2500

3666949264, 2600

3666949265, =100

20
3666949260. L

Question Number : 35 Question Id : 3666942965 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

a
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1




iiven below are two statements:

Statement [: If E be the total energy of a satellite moving around the

earth, then its potential energy will be %

i

Statement 11: The kinetic energy of a satellite revolving in an orbit is
equal to the half the magnitude of total energy E.

In the light of the above statements, choose the most appropriate answer
from the options given below

Options:

3666949267 Both Statement 1 and Statement 11 are correct

3666949268, Both Statement | and Statement 1l are incorrect

3666949269 Statement 1 18 correct but Statement 1l 1s incorrect

Statement 1 is incorrect but Statement 11 is correct
3666949270.

Question Number : 35 Question Id : 3666942965 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

$Y1: gl & URd: gHd 8U U IUUE Bl pd il 4fe £ 81, dl 391 (ufds Fol

= grfl

HYA 1: U S T gHd BU U IUUE Bl il ol ol Il £ S IR & 318 &

SR gl g
SWRIF Syl & Ggu 1, i 38 1 fdeed § 4 walide Iuged I gHT:

Options:

~

S
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YU | d hYA (I Hel
3666949267. o e %F

3666949268. TP 19 1777

DY | U] Yy 1 edd
3666949269. a ¢

P | Teld & U h U 1l He
3666949270. % o %

Question Number : 36 Question Id : 3666942966 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

At any instant the velocity of a particle of mass 500 g is (2t +3t% ) ms™'. If the

force acting on the particle at ¢ =1s is (i + )N . Then the value of x will be:

Options:

3666949271, ©

3666949272,

3666949273,
2

3666949274.

Question Number : 36 Question Id : 3666942966 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

feh ¥ &1U1 TR 500 g GOUH & U BUI BT AT (27 + 3% j) ms™ B1 TG ¢ =1s WPV W
SRR T (i + )N 1 T 2 FTH EAT

Options:

3666949271, ©

3666949272,

3666949273, °
o

3666949274

Question Number : 37 Question Id : 3666942967 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

| \ _ 1 :
Two forees having magnitude A and % are perpendicular to each other. The

magnitude of their resultant 1s:

Options:

3666949275.

3666949276,

3666949277. 4

L]
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Jo A~
3666949278. ~

Question Number : 37 Question Id : 3666942967 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AT £ UROIH & e Teh-ga & oaad ¢ | I TRumH @1 aRmm 2.

Options:

3666949275, =

3666949276, -

3666949277. “

=as
oA

3666949278. ~©

Question Number : 38 Question Id : 3666942968 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
The weight of a bodyv on the earth 1s 400 N. Then weight of the body when

taken to a depth half of the radius of the earth will be:
&collegedumaa
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3666949279, 4er0

3666949280, L0UN

3666949281, 200N

3666949282, V0N

Question Number : 38 Question Id : 3666942968 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl IR U U8 &1 YR 400 N 81 S1d 008 &1 gt &t B & 318 71 #1838 W)
d ST STl ¢ dd 39T YR gI:

Options:
Zero

3666949279.

3666949280, 100N

3666949281, 2V0N

1
3666949282, -

Question Number : 39 Question Id : 3666942969 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Correct Marks : 4 Wrong Marks : 1

Two projectiles A and B are thrown with initial velocities of 40 m/s and
60 m/s at angles 30" and 60" with the horizontal respectively. The ratio of

their ranges respectively is (g = 10 m/s2)

Options:

3666949283.

3666949284,

3666949285.

3666949286.

I
&

Question Number : 39 Question Id : 3666942969 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

S U Ad B &I A T 30° 9 60° F B0 TR HHI: 40 m/s d 60 m/s I & H&ftd

fos T STcl €1 39k S HEl: URTH] &1 39T © (2 = 10 m/s):

Options:

3666949283.

3666949284,

3666949285.

3666949286.

Eaﬁ

~
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Question Number : 40 Question Id : 3666942970 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A cylindrical wire of mass (0.4+0.01)g has length (8+0.04)em and radius
(6+0.03) mm, The maximum error in its density will be:

Options :

1%

3666949287/.

"
3666949288, 00

1%
3666949289.

0%

3666949290.

Question Number : 40 Question Id : 3666942970 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(04+0.01)g GHHH & UPH dAPR dR DI &3 (8+0.04)emTd R
(6+0.03)mm ¢! 39 U H Hi¢dHad Ffe grit:

Options:

19
3666949287.

o o,
3666949288, 00

b T ol ol T B T W W

a
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1%

0%

3666949290.

Question Number : 41 Question Id : 3666942971 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A TV transmitting antenna 1s 98 m high and the receiving antenna 1s at the
eround level. If the radius of the earth 1s 6400 km, the surface area covered
by the transmitting antenna 18 approximately:

Options:

3666949291 1568 km?
3666949292 1249 km?
3666949293 1049 km’
3666949294, 1240 km?

Question Number : 41 Question Id : 3666942971 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e idl Uweh U1 98 m &d1 8 Ud Urel U 4-%R WR g | aie gl 31 3541 6400 km

g, UNe U1 g1 B 7 dd ST &A0d oTHT ©:
&collegeduniaa

Options:




4868 km?

3666949291.

3666049202 P49 kin2
3666049293, S9042 km”
3666949294, 1240 km?

Question Number : 42 Question Id : 3666942972 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

For the logic eircuit shown, the output wavetorm at Y is:

> Y

13

Options:
'—“ ; = +
¢ 1 2 3 4
3666949295, -3
| L 2 3 4
> |
3666949296

]
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. 1 3

b 4

—
3666949297/,
_—
U ] 2 3 4
— |
3666949298.

Question Number : 42 Question Id : 3666942972 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
UefRid aifcees ulgy & forg, v av FAfd a8 ¥4 &

Options :

3666949295,
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> |
3666949296.
0 1 2 3 4
—_— |
3666949297.
B e
) | 2 3 4
> |
3666949298.

Question Number : 43 Question Id : 3666942973 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

For a nucleus ©* X having mass number A and atomic number Z

A.  The surface energy per nucleon (bs) = —a, A™"".

B. The Coulomb contribution to the binding energy b. = —a. E:‘,; ;{1]'

C. The volume energy b, =a;A

1. Decrease in the binding energy 1s proportional to surface area.

E. While estimating the surface energy, it 18 assumed that each nucleon

interacts with 12 nucleons. (a,, a, and a, are constants)
Choose the most appropriate answer from the options given below:
Options:

A B, C. Donly
3666949299,

~
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3666949300, = © OnLY

3666949301, = 1 only

B. C. E only
3666949302.

Question Number : 43 Question Id : 3666942973 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ATH T TYT z TRHIY] shHiD & U ATHE AX & [

A, Hﬁ[:{lﬁ?ﬂﬂﬁq&mﬁ(hﬁ) - *ﬂlf'iy:g

C. AT FHHl b, =asA
D. &H Gl H &H UY &A% d & SHHEUN! gidl B

. U§ ol [AdTad & e g8 | ol € 6 uded idadi= 12 gidaar 9
Wﬁgﬂ%l(al,agaﬂﬂ fradia )

A 130 T faeedl ¥ fddad Iugd Ju IHT:

Options:
3666049299, PICIA B,CAD

3666949300. .

3666049301, ¥ CAD

3666949302, PO B, CIE
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Question Number : 44 Question Id : 3666942974 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Proton (P) and electron (e) will have same de-Broghe wavelength when the
ratio of their momentum i1s (assume, mp = 1849 me):

Options :
3666949303, oMY
3666949304, = - 17
3666949305, 191
1:1
3666949306.

Question Number : 44 Question Id : 3666942974 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

I (P) TYT 3T (e) T SI-SITTE TRTTG ] U THI gRIT ofd 3Tk YaT1l &1 S-[UTd
€ (mp = 1849 m. AFSI) |-

Options:
3666949303, . oW
3666949304, - 17
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3666949305, 191

3666949306.

Question Number : 45 Question Id : 3666942975 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a reflecting telescope, a secondary mirror 18 used to:
Options:

3666949307 remove spherical aberration

3666949308. move the eveprece outside the telescopic tube

36669493009 Make chromatic aberration zero

reduce the problem of mechanical support
3666949310.

Question Number : 45 Question Id : 3666942975 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U URIG gasil §, U fgdig guul &1 yan feuds foru gidi &:

Options:

3666949307. 1 faues w H
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2666949308 P! I el el § AR AH H

3666949309. " - HEJW .

2666949310, TNAP SMUR DI FHE P! HH DI H

Question Number : 46 Question Id : 3666942976 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1

L =

Dimension of should be equal to

Options:

3666949311, T

3666949312. ol

3666949313, /T

3666949314, T /Y

Question Number : 46 Question Id : 3666942976 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

a
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Instruction Time : 0
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"~ &) fqmrent:

Ho S0

Options:
3666949311, “1
3666949312, /-
3666949313, /T
3666949314, T /L

Question Number : 47 Question Id : 3666942977 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Certain galvanometers have a hxed core made of non magnetic metallic
material. The function of this metallic material 1s

Options:
3666949315, to oscillate the eoil in magnetic field for longer period of time
3666949316 to produce large deflecting torque on the coil
3666949317, make the magnetic field radial
to bring the coil to rest quickly
3666949318.
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Question Number : 47 Question Id : 3666942977 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i3 yrRmftal § sy uifd® g &1 &9 Ud ©8 #Is il ¢l 39 Ufd®
e 1 FY 8

Options :

3666949315, ° B &7 | PUSH DI SIS 1T PIT B Gler DA H

3666949316. PUST TR eI A& qe el Joad A |

3666949317, TuPId & Bl S ¥ H

2666049318, Too0l P aull W IRH H A H

Question Number : 48 Question Id : 3666942978 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A charge particle moving in magnetic field B, has the components of velocity
along B as well as perpendicular to B. The path of the charge particle will be

Options:

3666949319 straight along the direction of magnetic field B

3666949320 circular path

aceroa02-q helical path with the axis along magnetic field B
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helhical path with the axis perpendicular to the direction of magnetic

field B
3666949322,

Question Number : 48 Question Id : 3666942978 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

JrahId &3 B H T U 1A &1 F 97 F °UTHh, B B AR 3R B & Tadd
& | 31Af2d BT BT Uy gH

Options:

et & 6 1 o B S W i

3666949319.

3666949320, VIR

DT &7 B P G HY FT galidd

3666949321.

6049379 JIgDIY & B Dl (S & TAdd & BT galba

Question Number : 49 Question Id : 3666942979 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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In this figure the resistance of the coil of galvanometer G 18 2 Q. The emf of
the cell 15 4 V. The ratio of potential difference across C1 and Cs 1s:

B3

Options:

|

3666949323.

3666949324, |

= | &

3666949325.

| e

3666949326.

Question Number : 49 Question Id : 3666942979 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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39 fo H YR 6 1 FUsdl HT UfaiY 2 0 81 Yd H1 [Aggd deF dd 4 vel ¢, d
Czﬁwaﬂl}ﬂqﬁ%

4V

Options:

| -

3666949323.

3666949324, |

= | &n

3666949325.

| e

3666949326.

Question Number : 50 Question Id : 3666942980 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Graphical varation of electric field due to a umiformly charged insulating
solid sphere of radius R, with distance r from the centre O is represented by:

Options:
3666949327 E=h
IS A
I
I
|
I
I
|
|
| . } r
3666949328. r=Hh
[
|
l.
|
|
|
|
| 3 r
3666949329. r=H
I 4
3666949330. = n

Question Number : 50 Question Id

: 3666942980 Question Type : MCQ Option Shuffling : Yes Is

~
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U UHHH AR 3fEs 319 Tid & SR fafis ®HE W dggd 83 &1 Sy
uiad 79 Uer ugiid &

Options:

r=R

3666949327/.
15 4
I
|
I
I
I
I
I
| > r
3666949328. r=K
;A
|
:u
I
|
|
| - r
3666949329. r=R
I 4
=
;
!
'
]
!
1 > r
AGAAOAQ22N r=R
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Physics Section B

SectionId: 366694163
Section Number : 4

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response : ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 366694163
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 51 Question Id : 3666942981 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An organ pipe 40 em long 18 open at both ends. The speed of sound 1n air 1s

360 ms-1. The frequency of the second harmonie 15 Hz.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

a
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10

Question Number : 51 Question Id : 3666942981 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ud 40 cm T SR U3 ST RRY O Gall g g1 9 H @ @1 91 360 ms? g
E?ﬁuwaﬁ&ﬂqﬁl Hz B |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 52 Question Id : 3666942982 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

An air bubble of diameter 6 mm rises steadily through a solution of density
1750 kg/m* at the rate of 0.35 em/s. The co-efficient of viscosity of the solution
(neglect density of air) 1s Pas (given, g = 10 ms™=).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 52 Question Id : 3666942982 Question Type : SA Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1750 kg/m? ¥ & U O # 6 mm ATH &1 U a1 b1 gaqal 0.35 cm/s DI ™
X 9 Iadl 21 °Id &1 T Ul Pas & (@1 1 - 10Y HFH UG
iﬁm% g = 10 ms—=)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 53 Question Id : 3666942983 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The moment of mmertia of a semicircular ring about an axis, passing through

the center and perpendicular to the plane of ring, 1s lIﬁ.’[H.::", where R 15 the
.

radius and M is the mass of the semicircular ring. The value of x will be

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 53 Question Id : 3666942983 Question Type : SA Calculator : None

a
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Response Time : N.A Think Time : N.A Minimum Instruction Time: 0




0% ALIABR Todd D1 TP & F Ud: Fad 3yl %MRE T b dd &

drdd Ud 39 P O ToRdl 6| 918 M AL daIdR Fed Bl GoadH aul R B 8
x BIHAA g

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 54 Question Id : 3666942984 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The momentum of a body 18 inereased by 50%. The percentage increase in the

kinetic energy of the body 1s Y.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 54 Question Id : 3666942984 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U fQUg &1 HaT1 50% &g oirdl ¢ | {Ave &1 niaw Sat A ufowrd afg % g |
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 55 Question Id : 3666942985 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A nucleus with mass number 242 and binding energy per nucleon as 7.6 MeV
breaks into two fragment each with mass number 121. If each fragment
nucleus has binding energy per nucleon as 8.1 MeV, the total gain in bhinding
eniergy 18 MeV.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 55 Question Id : 3666942985 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

242 GO W1 U4 Uid <fFerdi a=MA ol 7.6 Mev &1 TF A11Hd U GHH GqHH
q=A1 121 & 3 Ble-2 Gl § g2 Idl g1 4ie Ude Qus A1fie 1 ufd gfeadH
g2 FHol 8.1 MeV 81, §%F FHol § &l 9fg MeV € |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
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Text Areas : PlainText

Possible Answers :

10

Question Number : 56 Question Id : 3666942986 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Two vertical parallel mirrors A and B are separated by 10 ¢m. A point object
() 1s placed at a distance of 2 em from mirror A. The distance of the second

nearest image behind mirror A from the mirror A is cm.
A B
-
]
_
12em
- ()

L1l ii111]

& |} ¢ —>

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 56 Question Id : 3666942986 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3l SR TR U AT B UH G T 10 cm 1 33 W RG I UM AT 2 em &
ol R U fag 9% o a8 1 U A & diw fgdig Fidvean ufafera & gdor A 9 g
cm%’l

Liltlllil) =

2 em

1

LIl i1ll]

«— 10 em —>

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 57 Question Id : 3666942987 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

An oscillating LL.C cireuit consists of a 75 mH inductor and a 1.2 uF capacitor.
[f the maximum charge to the ecapacitor i1s 2.7 ¢C. The maximum current in
the circuit wall be mA.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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Question Number : 57 Question Id : 3666942987 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U Gl &d gU LC URYY § 75 mH &1 Uch IR Ud U 1.2 pF B Th GYIRA o0
o1 afd Huia R od 31 2.7 pc g | uuy & Sff¥rhdd 4RI aull

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

19

Question Number : 58 Question Id : 3666942988 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The magnetic intensity at the center of a long current carrying solenoid 1s
found to be 1.6x10°Am™" . If the number of turns is 8 per em, then the current
flowing through the solenomd 1s A,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 58 Question Id : 3666942988 Question Type : SA Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UF Tl ¢RTATR! GRATCTH] & g U TrED I &F P Alddl 1.6x10° Am ! U BTl
g1 gfe ufa §H. T 1 wE 8 81, ot ulafereT & varfgd «m AT

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 59 Question Id : 3666942989 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A current of 2 A flows through a wire of cross-sectional area 25.0 mm-=. The
' ¢ T Ly 1 = . ’
number of free electrons in a cubic meter are 2.0x10-". The drift velocity of
. e x i i
the electrons is «107% ms-1 (given, charge on electron = 1.6x107¥C).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 59 Question Id : 3666942989 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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25.0 mm?2 & YR UNESS AFFd & UHAR H 2A B U HRT Yaled il o
U 9 HieX § gad SddeHl d &I 2.0x10%° g1 IAaHE] 1 FTHA 91
x107% ms-1 g (f01 8, Sl W 31d = 1.6x107 7))l

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 60 Question Id : 3666942990 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An electric dipole of dipole moment is 6.0x10°Cm placed in a uniform

electric field of 1.5x10°NC™! in such a way that dipole moment is along
electric field. The work done in rotating dipole by 180" 1n this field will be

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 60 Question Id : 3666942990 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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6.0x107C m fayd 3mgul &1 u& fdeyd fesd 1.5x10°NC™! & U taaHH fdggd
&4 ¥ 39 UBR @ ¢ fd feya omyol fagyd &7 & safew g1 39 &= 1 fgyd &1 180°
GR1 g1 ¥ & &Y mJ BT

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Chemistry Section A
Section Id : 366694164
Section Number : 5
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Enable Mark as Answered Mark for Review and
Clear Response: ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 366694164
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 61 Question Id : 3666942991 Question Type : MCQ Option Shuffling : Yes Is

Niiectinn Mandatarv * Nn Calrnillatnr * NNnne Recsnnnea Time * Nl A Thinkk Time * N A Minimiim

~

S
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Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

210; +x1 +12H* = 6L, + 6H,0

What 1s the value of x?

Options:

3666949341, =

3666949342, 1V

3666949343, ©

3666949344,

Question Number : 61 Question Id : 3666942991 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

210; +x1 +12H" — 6L, +6H,0
x BTHHE HI 82

Options:

3666949341,

3666949342, 1Y

3666949343, b

3666949344,
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Question Number : 62 Question Id : 3666942992 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
The reaction

~H,(g) + AgCl(s) = H' (aq) + C1 (aq)+Ag(s)

occurs 1n which of the given galvanice cell.

Options:
Ao | AeCl(s) | KCl(gsol™) | AeNQ., | Ae
3666949345, &1 ABLIE) [ RCI(sel) | AgNO, | Ag
Pt H.,(g) | HCl(sol™) | AgNO, (sol™ ) | Ag
™M | H,(g) | (sol™) | AgNO,(s0l") | Ag
Pt H. ()| HCl(sol" +Cl(s) | Ag
ACEEBAGALT | H, (g) | (sol”) | AgCl(s) | Ag
Pt | H, (g) | KClisol") | AgCl(s) | Ag
3666949348. N

Question Number : 62 Question Id : 3666942992 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HiHfcha
% H,(g) + AgCl(s) = H (aq) + Cl (aq)+Ag(s)
Rl 7 v e &t A e

Options:

nccronaanc  EIAgCI(s) [ KCl(sol™) | AgNO, | Ag
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Pt H,(g) | HCl(sol™) | AgNO. (sol™) | Ag
aeecaacads, T ECIEel YAl ) Al

3666949347 Pt|H., (g) | HCl(s0l") | AgCl(s) | Ag

Pt | H (g) | KClisol™) | AgCl(s) | Ag
3666949348, .

Question Number : 63 Question Id : 3666942993 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Which of the following represent the Freundlich adsorption 1sotherms?

I

&*
i
A

p—>

)
B. o8 /

} constant

logp —>

7

} constant

3= —

®

B g —>
x
D i
I |
ph —>

Choose the correct answer from the options given below:

Options :

3666949349, % Bonly

3666949350, O D only

3666949351, %+ B. D only

RAARRQAQZRKY A GD []1”11}"
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Question Number : 63 Question Id : 3666942993 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

frofafad 1 9 &1 91 wigsfas s guard @ yeiid s 82

X
A m
n—>
log
B. i
} constant
log p —
X
. m
} constant
¢ —>
X
D fri
ph —>
e 138 T4 faeul 7 4 9el fapay &1 .
Options :
&dd A 3B

3666949349.
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3666949350, Pad B, C 3R D

3666949351, PICI A, B3R D

3666949352, PAdA, C3RD

Question Number : 64 Question Id : 3666942994 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The correct order of electronegativity for given elements 1s:

Options:

3666949353, © = P> At=>DBr

3666949354, Br>C>At>P

3666949355, © > Br>0U>At

3666949356. Br>P>At>C

Question Number : 64 Question Id : 3666942994 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
fed 70 9l &1 f[aggd BUmaSdl &1 Il HH g:

Ontions
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3666949353, © > P> At>DBr

3666949354, Br=>C=At>P

3666949355, © - or >G> At

3666949356, F ¢ > at>0

Question Number : 65 Question Id : 3666942995 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following metals can be extracted through alkali leaching
techmque?

Options:

3666949357, U

3666949358, Cu

3666949359, LP

3666949360.

Question Number : 65 Question Id : 3666942995 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

a
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Instruction Time : 0




Correct Marks : 4 Wrong Marks : 1
Praffad & 6§ o 9 uig uiia Reras R | Preffa 9 o aed 2

Options:

3666949357, U

3666949358, Cu

3666949359, LD

3666949360.

Question Number : 66 Question Id : 3666942996 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The water gas on reacting with cobalt as a catalyst forms

Options:
3666949361 Methanal
3666949362, Methanol

3666949363. Methanoic acid

3666949364, L-thanol
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Question Number : 66 Question Id : 3666942996 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
oIl T SIdle JaRS ¥ SHHIbUT HIb &1l &

Options:

3666949361, HAAIC

3666949362. HYTa

3666949363. AR 3

3666949364, LU

Question Number : 67 Question Id : 3666942997 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1s the purpose of adding gypsum to cement?
Options:
To give a hard mass

3666949365.

3666949366 To facilitate the hydration of cement

To slow down the process of setting
3666949367.
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3666949368, | ° @peed up the process of setting

Question Number : 67 Question Id : 3666942997 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
U= ¥ oA &l STe- &1 a1 I 872

Options:

3666949365. PBR %o 3 P [eTg

3666949366, TTTC @ PRV P FTH T P ferg

3666949367/. ST & TP H PI UHI B & fere

3666949368, T P V¥ P ol I & [T

Question Number : 68 Question Id : 3666942998 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
(Given below are two statements:
Statement I: Lithium and Magnesium do not form superoxide
Statement II: The 1onic radius of Lit 15 larger than 1onie radius of Mg2+

In the Light of the above statements, choose the most appropriate answer
from the options given below:

Options:

Rnath Statoamoent | and Statomaont Tl are cavract
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3666949370. Both Statement | and Statement 11 are incorrect

3666949371 Statement [ 18 correct but Statement 11 18 incorrect

Statement [ 18 incorrect but Statement 11 1s correct
3666949372.

Question Number : 68 Question Id : 3666942998 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SIERAAIE AT R
HYF . faftaw iR BaREy g sieags 98l &9 ¢ |
FUYTI: L I S BT me2 ¥ 31U 8idi §
IWRIE Sy & g [ 38 ™ fadel O 9 9a9 Id IR B 94 -

Options:

3666949369, PUT 1 SR I SHI FA
3666949370, PYUT 1 3R 11 ST 3 8
3666949371, P41 TW & IR PU 11 A

3666949372, PUT 1 3T & g HYT 1 TA 8

Question Number : 69 Question Id : 3666942999 Question Type : MCQ Option Shuffling : Yes Is
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which halogen 1s known to cause the reaction given below:
2Cu” +4X = Cu X, (s) + X,

Options:

3666949373 All halogens

3666949374, Only lodine

3666949375, UMy Bromine

3666949376, 0 Chlorine

Question Number : 69 Question Id : 3666942999 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&I Il gl A & 13 ffHfsar &1 3.

2Cu™ +4X™ — Cu X, (s) + X,

Options:

3666949373, THI Gello

3666949374, DA SATSH

3666949375, PAd SHA

3666949376, Pa0 AR
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Question Number : 70 Question Id : 3666943000 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following complex is octahedral, diamagnetic and the most
stable?

Options:

K ,[Co(CN),]
3666949377. '

[Co(H,0),]Cl,
3666949378, Al

| Ni(NH,), |CL,
3666949379. g

Na, [Cr: Cl, ]
3666949380.

Question Number : 70 Question Id : 3666943000 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frafafed & § 311 1 dgd Jhae T Ugee SR Faife i &

Options:

K,[Co(CN),]
3666949377, *

[Co(H,0),]C],

3666949378.
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3666949379.

3666949380.

|Ni(NH,),|Cl,

Na, [CoCl,]

Question Number : 71 Question Id : 3666943001 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match Last I with Last 11:
List I (Species) List II (Maximum allowed concentration
in ppm in drinking water)
A. F L. < 50 ppm
B. SO7 [1. < 5 ppm
(. NO, [1I. <2ppm
D An IV. <500 ppm

Choose the eorreet answer from the options given below:

Options:

3666949381.

3666949382.

3666949383.

3666949384,

A-1,  B-11, C-11I, D-1V

A-1IV, B-111, C-1I, D-1

A-1l, B-1, C-III, D-IV

A-111, B-11, C-I, D-IV

Question Number : 71 Question Id : 3666943001 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

~
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Correct Marks : 4 Wrong Marks : 1

g 31 11 B g Y
i T
GUGED! CEEIGEGE LRI
A=l ppm H)
A. F I. < 50 ppm
B. SO IL. <5 ppm
C. NO, III. <2ppm
D. Ay IV. <500 ppm
19 &0 T fas el Q 9l IR Bl I

Options :

366694931 AL Bl C-II, D-IV

3666949382, 1V, B-IIL G-I, D-l

3666949383, Ak Bl CIL DAY

3666949384, AL BIL C-I - D-IV

Question Number : 72 Question Id : 3666943002 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correct order of spin only magnetic moments for the following complex
1018 18

Options:

iy
2

seccongags LFEONL] <[CoF]" <[MnBr,J" <[Mn(CN),J"
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| W
3 2

reo038E [Fe(CN),]" < [Mn(CN),]" < [CoF,] <[MnBr,]

n
L

[CoF,] " <[MnBr,] < [Fe(CN),]" < [Mn(CN),]"

¥

3666949387.

3666049388, LMD" | < [CoF,]” <[Fe(CN),]” < [Mn(CN),]"

Question Number : 72 Question Id : 3666943002 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Options:

3666949385, L OV | <[CoF,]” <[MnBr,]" <[Mn(CN),]"
rcccongage. |FECN] < [Mn(CN),]" < [CoF,]" <[MnBr, "
2666049387 LCOFs] <[MnBr,J" < [Fe(CN),]” < [Mn(CN), ]
3666049388, (BT |~ < [CoF,]” <[Fe(CN),] < [Mn(CN),]”

Question Number : 73 Question Id : 3666943003 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1




Choose the halogen which 18 most reactive towards Syl reaction 1in the given

compounds (A, B, C & D)
Br

(o)

A,

Options :

3666949389- ‘gﬂ“" o HI‘I;L:I : B L !:l::!'J ; { - HI'“]:I U I Brl.'u]
ﬂ!'" B Hrl"t:l * B " [[:ﬂ : {-1 o HI'{“-:I . U I Br[:a'l
3666949390. a | )
".‘m" o Brl'l!!' : H - I’I'i:'l . {: ik Br;'u.ll D B BILIL:_I

3666949391. | i |

A~ Brl’h:. ; B— Ir_h:n ; C= Hrl,h:r ; D= Br'h'

3666949392.

Question Number : 73 Question Id : 3666943003 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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fed 14 4] (4, B, C & D) & U BalaH &1 g wifd! Sw1 HfHfbaT & fou Haifies
febarefic 8|

Options:

3666949389.

3666949390.

3666949391, B >

3666949392.

: )= Br

.3 D—Br

Question Number : 74 Question Id : 3666943004 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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The major product formed in the following reaction 1is:

() LiBH,

~COyH ——3> major product
ELtOH
COy Et i %

Options:

0N
3666949393.

OH

~C0; Kt
3666949394,

: | :('1{):_311

3666949395,

3666949396.

O]

Question Number : 74 Question Id : 3666943004 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

.y 1) LiBH
{ (JEI“[ “] l=ll=.3= |“.ﬂ55|','iiﬂ|‘," _[_I]_‘II_}EJU.{*.I.
_ KtOH
A (1)) Hy0"
Options:
3666949393.

]
&collegedunlas
India’s largest Student Review Platform

S



~01

O H

' ~" NoH
O, Et
3666949394,
I : :(1{:@}1

3666949395. OH

CO,H

3666949396.

Question Number : 75 Question Id : 3666943005 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements: One 1s labelled as Assertion A and the other
is labelled as Reason R.

Assertion A: Butan —1- ol has higher boiling point than ethoxyethane.

Reason R: IExtensive hydrogen bonding leads to stronger association of
molecules.

In the hght of the above statements, choose the correet answer from the
options given below:

Options:
3666949397 Both A and R are true and R 1s the correct explanation of A
3666949398. Both A and R are true but R 18 not the correct explanation of A
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3666949399 A 15 true but R 1s false

3666949400 A is false but R 18 true

Question Number : 75 Question Id : 3666943005 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e g1 Sy 20 T 8 U 1 fHHYT A 3R R I FRUIR iRd fearm g
HHHYA A : -1 3Tdd B HYiP TUTRITYA I 3if&® grar g
HRUIR:  SfAIEF BASIOH MEUA & BRI (U] &1 TS Agd ol STl ¢
IURIE Yl & YR TR A1 38 7 [qheut J 9 Hel fdeed &1 94 -

Options:

A 3R R GHI ¥l & 3R R, A &I Tl ARSI § |

3666949397,

3666949308 A SR R GIFl HEl € IR R, A & el red] 78l 81

3666949399, A Tl € TR R 7TeTd &

3666949400, A T € T3 R Tl 1

Question Number : 76 Question Id : 3666943006 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Match List I with List 11:

N,Cl
®/ 1s reacted with reagents in List I to form products in Last 11

List I (Reagent)

List 11 (Product)

1
4

B. HBF;, A

C. Cu, HCI

D. CuCN / KCN

Choose the correect answer from the options given helow:

Options:

3666949401.

3666949402, 1L B-L.

3666949403.

3666949404, 111 Bl

A-1V, B-1l1l1,

A-1,  B-111,

C-11, D-I
C-1V, D-1I
C-1V, D-II
C-11, D-IV

Question Number : 76 Question Id : 3666943006 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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el BT 1| H GHTeTd B

N

O i | ® sifede | sftfea &3 I 1| &1 Iarg a8l
el -1 S HHHD et -1 IdTG

_~NH, o
A, I
B. HBF,, A @/{TH
L, .
C. Cu, HCI .
111 -

D. CuCN / KCN = i
IV.

A T T [dFedi H H Tl SR &l 1.

Options:

3666949401 A1V, Bl C-II,  D-l

3666949402, AL B-L.  C-IV, D-1I

3666049403 AL B CIV, DI

3666949404, AL B-L  CIL DIV

Question Number : 77 Question Id : 3666943007 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sulphur (S) contaiming amino acids from the following are:

(a) 180leucine (b) cyvsteine (c) lysine (d) methiomine (e) glutamic acid

Options:
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3666949405, & P C

36669494060. b, d

3666949407, D © ©

3666949408, & 4

Question Number : 77 Question Id : 3666943007 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafifad ¥ ¥ gehgad UTHAT 3 B
(a) MSHIHA (b) REH (o) TIHH (d) BYURSHHA (e) WcH® 3

Options:

3666949405, & - ¢

3666949406, O

b, c.e

3666949407.

3666949408, * @

Question Number : 78 Question Id : 3666943008 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Instruction Time : 0




Correct Marks : 4 Wrong Marks : 1

Mateh List 1 wath Last 11;

List 1 List 11
A Saccharin 1. High potency sweetener
B. Aspartame I1. First artificial sweetening agent
L Alitame [1I. Stable at cooking temperature
D. Sucralose IV. Unstable at cooking temperature

Choose the correet answer from the options given below:

Options:

36669494009.

3666949410.

A-11, B-1V, C-1,

D-111

A-11, B-1V, C-III, D-I

3666040411 A-IL BAIL C-IV, D-I

3666949412.

A-1V, B-111, C-1,

D-11

Question Number : 78 Question Id : 3666943008 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Tl 1 Bl 1Y YHfeTd B

-1

. HIYE Udd AR

I Ugdl pEAH AYRSD

. WHEYSHMEA & agd= IR RS

V. WHEIYHME & dgHHE U HRE

A 13 T 9 el ¥ Hel ST &I gH:

Options:

~
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3666949409.

3666949410.

A-11, B-1V, C-l,

A-11, B-1V, C-11I, D-1

3666949411, A1l BIL C-IV, D-I

366694941 2.

A-1V, B-11I, C-1, D-II

D-111

Question Number : 79 Question Id : 3666943009 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mateh Last 1 with Last 11:
List I (Reagents used) List 1I (Compound with
Funetional group detected)
A, Alkaline solution of copper
sulphate and sodium citrate H)
L.
B. Neutral FeCl; solution NH,
I1. /J\
C. Alkaline chloroform solution o CHO
I11.
D. Potassium  iodide  and . . ~0OH
sodium hypochlorite
IV. |

(Choose the eorreet answer from the options given below:

Options:

3666949413, A1l B-IV, C-III, D-1

3666949414,

A-1V, B-1, C-11,

D-111

~
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3666949415, A-UL B-IV, G-I, D-II

3666949416, AL B-1V, C-1I, D-I

Question Number : 79 Question Id : 3666943009 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

! 1 H 1Y gHTeTd &Y
Tt -1
(T SHHEHHD) @i SR uraT T e 9ig)
A, DI Febe R HfSar g5ee
&1 &R [degq HO e
L.
B. FeCls &1 IGH NH,
I1.
C. 4R FERIETH @ NCHO
I11.
p. UMW 3MEEs 3R Aifsar _ - OH
. : IV.
At fed 8 fasedl § 9 Hel I B -
Options :

3666949413, A1l B-IV, C-I, D-I

3666949414,

N rrNANAAT ﬂl—l]] E-Iv (-1-[ n—TI

A-IV, B-1, C-1I, D-III

~
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3666949416, -1, B-IV, C-II,  D-I

Question Number : 80 Question Id : 3666943010 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

In chromyl chlorde, the number of d-electrons present on chromium 1s same
as in (Given at no. of Ti: 22, V: 23, Cr: 24, Mn : 25, Fe : 26)

Options:

3666949417, Mn (VL)

3666949418, Le (D)

3666949419, ¥ (V)

3666949420, 1 (D

Question Number : 80 Question Id : 3666943010 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

hIHISd FARTZS H HIHTH IR IURYT d-3dd=l &1 He1 fhad g7 8idl e
(a1 71 § URHTY] B HIS Ti: 22, V: 23, Cr: 24, Mn : 25, Fe : 26)

Options:

3666949417, Mn (V1)
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3666949418, | ¢ (D

3666949419, ¥ V)

3666949420, | (D

Chemistry Section B

Section Id :

Section Number :

Section type:

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default?:

366694165
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Question Number : 81 Question Id : 3666943011 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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P =3atm
.ﬁlrr = ] [IJ
MNe(g)

=

Three bulbs are filled with CH4, CO2 and Ne as shown in the picture. The
bulbs are connected through pipes of zero volume. When the stopcocks are
opened and the temperature 1s kept constant throughout, the pressure of the
system 1s found to be atm. (Nearest integer)

F =% atm

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 81 Question Id : 3666943011 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[7 |

i fob o  feraman a1 @ 19 96 CHa, €Oy, 3R Ne & R 7 & | it 9 g
3T &1 13U A IS §U & | O Uiehd1 & SR FRR a/ IR 9id SIdt &1 Eidll A1l €
GER G EAKAL | atm g (Fidead quiid)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes
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Text Areas : PlainText

Possible Answers :

10

Question Number : 82 Question Id : 3666943012 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The number of following statement/s which is/are incorrect is

(A) Line emission spectra are used to study the electronie structure

(B) The emission spectra of atoms in the gas phase show a continuous
spread of wavelength from red to violet

(C) An absorption spectrum 1s like the photographic negative of an
emission spectrum
(D) The element helium was discovered in the sun by spectroscopic method
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 82 Question Id : 3666943012 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frfefad o sy HuE! &t S8 gl

(A) Y IO WEel BT IUGNT saidel-e TG & g | gidl g

B) T 3awyl H URANSHT &1 Il WaeH ard ¥ §7H! aul-get # ueiia
GG

(C) AU TWaeH JHoi- WaeH & BIcahig Hilfcd & g giar g

(D) O giferad &I g4 H W R It fafd & @ier mr an

Response Type : Numeric
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Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 83 Question Id : 3666943013 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of following factors which affect the percent covalent character of
the 10nic bond 1s

(A) Polarising power of cation
(B) EKxtent of distortion of anion
(C) Polarmsability of the anion

(D))  Polarsing power of anion

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 83 Question Id : 3666943013 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Fafefad SRS &1 & © Siifes AE Ta= # geudrel d&u &

gfer=rd &1 gHTfad &l g

(A)  SFTO DT 0T &l

(B) HUMH & AW T HIH
(C) UG &t Yddl

(D) UM BT U7 &
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 84 Question Id : 3666943014 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When a 60 W electric heater 1s immersed in a gas for 100s 1n a constant
volume container with adiabatic walls, the temperature of the gas rises by
5'C. The heat capacity of the given gas 18 J K-1 (Nearest integer)
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The vapour pressure vs. temperature curve for a solution solvent system 1s
shown below.
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The boiling point of the solvent is i
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The titration curve of weak acid vs. strong base with phenolphthalein as

indictor) is shown below. The K . i =4 %107
Criven: log2=0.3
t
132
10 =
o e
= <
|
(5 I
|
|
) J AN S S W S S——
o 10 15 20 25
VNaOH »

The number of following statement/s which 1s/are correet about
phenolphthalein is

A It can be used as an indicator for the titration of weak acid with weak
hase.

B. It begins to change colour at pH = 8.4
C. [t 15 a weak organic base
D. It 18 colourless 1n acidie medium
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The number of given statement/s which 1s/are correct 1s

(A) The stronger the temperature dependence of the rate constant, the
higher 1s the activation energy.

(B) If a reaction has zero activation energy, its rate 1s independent of
temperature.

(C) The stronger the temperature dependence of the rate constant., the
smaller is the activation energy.

(D) If there 1s no correlation between the temperature and the rate
constant then it means that the reaction has negative activation
energy.
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Question Number : 88 Question Id : 3666943018 Question Type : SA Calculator : None
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XeF reacts with SbFs to form

[XeFm]"[SbF, | .

m+tn+y+z=
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Molar mass of the hydrocarbon (X) whach on ozonolysis consumes one mole of
Oz per mole of (X) and gives one mole each of ethanal and propanone 1s
g mol-! (Molar mass of C : 12 g mol-1, H: 1 g mol-!)
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0.5 g of an organic compound (X) with 60% carbon will produce x10' g
of CO:z on complete combustion.
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